2 leay o A = 73 g:'&ix &> X lﬁgﬁiﬁ |
2/ . —
L= (Q(“%‘~' ¥ , erdin s1cle.)
Jor =9 |
Ja =3 (eatias ooy mide)
A =23
5 Q- Lsn (- | |
mun Vodue  of bsun (¢ ,W%\ -
SO o ol mf A- L(sun (e-"15)
s A+l = 13 | |




w
fﬁ
A

{m
R
- g

pf’

E‘.w —
.y

C
-
8]
<,

[~




1-HOQ-3

o

TN t

T ey, o

N S

p - |

\J > , ‘

, NS o
J | )
I.\\ fi.sl\\\\ hﬂ

A, .

g #
S

Ab

iy %3

&
1 , L g Q
O ! LT ﬁm o o7 v —
o~ g .“E..! : ,lwW i.ms : ; ! | ) _ -
~ I 1= 19 NN Y |
UWW ﬂ%@% I3 '€ e _:é,ﬂhﬁ
i.\& © ~ i O % T
g8~ < g LT
= = L T J
M N 33 u ] i
8K
y

< «
0
.

%i &33
leg

I

Ay
g
es—

. A4)

A\

3l +

5
iy

)

10




- MO -G

iy J— ’ =
b) EG=G-<2 NE = f-d
= [EY_[9) =\ 3
k\§) é{ 2 kss } - ¢
B .
N = “‘L?'\ ,,,,,
3 ci,}
=G - oF - —& — G+ \7
s=fo]
S ~ e
So - &C, ool OF ane perperncicudos
oo O Llgu)y = § et 2e)
=2 (L) v\
= 2xrte v
- ,,352;?3@
W) gL = 0y (204k)
. 2
= LZD(;% ) -2
= Lx*+ Ler v+t
oo
U=—-oe |
Q .
m:;z) = o+ lox i”c@
lny = looe+ Lo
i e 4-3 G
lny —3Gn -9z
J :
b= =552 — (-3 1)
| Gt — L3




1-M@- ¢
- L ’(:3(5:?‘
lny= —1-0blx + lna

}i'\“)

— | -Oloix

okl

>




